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A 22X Z
M QA ZA HISAG}

&l XEZD|& de2st (EEEE))
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
AT ZAY FHSAAS} 11,735,150 11,750,000 N 14,850

= 136,000 136,000 0

< 1,698,150 1,701,000 N2,850

x 4,000 4,000 0

= 9,897,000 9,909,000 A12,000

NESPIS RS S 3,587,150 3,590,000 2,850
= 36,000 36,000 0

< 1,622,650 1,625,500 A2,850

S 4,000 4,000 0

= 1,924,500 1,924,500 0

HsER0(2H) X 45,150 48,000 22,850
< 7,650 10,500 A2,850

= 37,500 37,500 0

307 gI2t0| & 45,150 48,000 22,850
< 7,650 10,500 A2,850

= 37,500 37,500 0

02 QIHHAANGER 45,150 48,000 N2,850
OY=sE<0(8H) K& 45,150 43,000 A2,850

< 7,650 10,500 22,850

= 37,500 37,500 0

XIE3EH =8 2435t 3,809,000 3,821,000 A 12,000
LAXIZHIOHIIE ALHIE Z0IE 22t 804,000 816,000 A 12,000
101 Q14| 261,600 273,600 A 12,000
04 JIRtH2Z2XSE+ 261,600 273,600 A 12,000
OIHXNIXIII d==J| 12 4,000 10,000 26,000
Olz=, 2 d=J| ¢IF 14,000 20,000 26,000
Sty 3dE 25 799,880 812,280 A12,400
2l 29,177 29,177 0

< 142,368 142,368 0

s 628,335 640,735 A12,400

SR Dlet Ot 799,880 812,280 A12,400
2l 29,177 29,177 0

< 142,368 142,368 0

= 628,335 640,735 A12,400

SIS AAY 199,578 209,578 10,000
2l 29,177 29,177 0

< 26,058 26,058 0

= 144,343 154,343 10,000

301 LEIEEZ 109,278 119,278 10,000
) 29,177 29,177 0

[ 26,058 26,058 0

= 54,043 64,043 10,000

14 DBt 2 a3 109,278 119,278 10,000
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A X1
M GsTRAe 2 g
ol S AHEAHY JIEH O
SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o
ORI (2FHI2H) &0 X 60,650 70,650
= 21,195 21,195
= 39,455 49,455
DEE ARML JIgt1= 153,102 155,502
307 gI2Hol ™ 85,009 87,409
02 QItBAAIHE R 85,009 87,409
OLZE 3As M X# 69,009 71,409
HRES (X =) 34,474 38,980
SEXE 34,474 38,980
SXx3z gHE 34,474 38,980
802 gtet=D|E 34,474 38,980
02 Al - SHIEXZEHEZ 13,710 18,216
02023 SAE AIZIHE ALY OIXE Bt 2 0
Q20228 2R A& Hotdel XNJAY EHl
S xon 9l O Xt ghe 0 5,509
O 0234 vieisSg o |4 KIJAAMY |
SHl A g QX BHef 1,001 0
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